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In the Name of Allah, the Most Gracious, the Most Merciful

Paper Pattern

McCQs 40
Short 4
Short 4
long 4

each 1 mark

each 2 marks
each 3 marks
each 5 marks

Question No : 1 of 52 Marks: 1 (Budgeted Time 1 Min)

A sub graph of a graph G that contains every vertex of G and |5 a tree s called

Answer | Please select your correct option ) WWW.Vi rtua IAcademyLive.Com |

Trivial tree

lamply trea

|

Spanning tree

A vertex of degree 1inatree is caled a

e cormect ‘YD‘I‘IE by; Wuqnl‘ ‘Sid‘",ll

Question No : 2 of 52 Marks: 1 (Budgeted Time 1 Min)

Answer | Please select your correct option ) WWW.Vi rtua IAcademVLiUe.Com |

Terrminal vertex

COrrect

Internal vertex

YNade by: YWaqar Siddhe




Question No : 3 of 52 Marks: 1 (Budgeted Time 1 Min)

If @ tree has 8 vertices then it has

Answer ( Please select your correct option ) WWW.VirtualAcademyLive.com |

6 edges

7 edges

9 edges

YNade by: YWaqar Siddhe

Question No : 4 of 52 Marks: 1 (Budgeted Time 1 Min)

Complete graph is planar if

Answer ( Please select your correct option ) WWW.VirtualAcademyLive.com |
’ correct YNade by: YWaqar Siddhe

CQuestion No ; 5 of 52 Marks: 1 (Budgeted Time 1 Min)

Arry twios spanning trees for a araph

Avower Ploass selac you coroct opion WWW.VirtualAcademyLive.com

Does not contain same number of edges

r

Have the same degres of cormasponding edges

contain same number of edges

hlay or may not contain same number of edoes

; YNade by: YW aqar Siddh




Question No ; 6 of 52 Marks: 1 {Budgeted Time 1 Min)

Ifp and g are statement vanables then bi-conditonal of p and s denoted by

Answer ( Please select your correct option ) WWW.VirtualAcademyLive.com |

r
peryg

correct

PR

_ [one atthese mnde b,g wnan ‘Sid‘lh‘l

Question No : T of 52 Marks: 1 (Budgeted Time 1 Min)

Eephrase the followmg statement in ba-conditional form
“If you get up early m the mormng, vou will be healthy™

Answer ( Please select your correct option ) WWW.VirtualAcademyLive.com |

You will be healthy £ and only f you get up early in the mornmg

correct

I you will be healthy then you will get up eady in the moming

IE you wall get up easly in the mornmg then you will be healthy

_ [one atthese mnde b,g wnan ‘Sid‘lh‘l

Question No : 8 of 52 Marks: 1 (Budgeted Time 1 Min)

Which of the followng law 12 used to shew?
pegEqep

Avower Ploass selac you coroct opion WWW.VirtualAcademyLive.com

Tnplcation Law

Commutative law

Exportation Law

of Yade by: YWagar Siddhe




Question No : 9 of 52 Marks: 1 (Budgeted Time 1 Min)

A and B oare two sets then the set which contaws all those elements that belong to A or B s

Ao  lease setectyour corectopton) WWW.VirtualAcademyLlive.com
| auz
. correct
AmEB
A-5
Mone of these s
; YNade by: Yyaqar Siddhe

CQuestion No : 10 of 52 Marks: 1 (Budgeted Time 1 Min)

Let g be the fimchon defined by gia) =3x + 2 then gog(x) =

Amrrert Please select your correct option ) WWW.VirtualAcademyLive.com |
’ correct ONade by: Yy/aqar Siddhe

Question No : 11 of 52 Marks: 1 (Budgeted Time 1 Min)

If A 15 @ set of all mtegers and & = {(x, ) € A1 xy 2 1) 15 a relation on A then the relafion Eas

Answer Ploaseseectyourcomec option ) WWW.VirtualAcademyLive.com!
Transitive
Syrmmetric
Beflezive
All the giwen options are tre >
; n YNade by: YYaqar Siddh




Question No : 12 of 52 Marks: 1 {Budgeted Time 1 Min)

The part of defirdtion which can be expressed m terms of smaller versions of itself sz called

Arwer Pz siecyou coc pion) WWW.VirtualAcademyLive.com!
Bage
Bectriction
Becursion
correct
Conchusion s
; YNade by: Yyaqar Siddhe

Question No : 13 of 52 Marks: 1 (Budgeted Time 1 Min)

Let£1s defined recurstvely by F{0) =3, fla+ 1) =2f(#) + 3 then f(1) =

Anwer {Paase selctyour coroctoption) WWW.VirtualAcademyLive.com
9
* correct
10
18
21 s
¢ ONade by: YWaqar Siddhe
Question No : 14 of 52 Marks: 1 (Budgeted Time 1 Min)

Proef of a statemnent by mducnon comprises of two basic steps:

Avower Ploass selac you coroct opion WWW.VirtualAcademyLive.com

Inductve and Deductve

r

Biasis and Inductive

Arranging and Sorting

| YNade by: Yyaqar Siddhy




Question No : 15 of 52 Marks: 1 (Budgeted Time 1 Min)

In Mathematical Induction, mduchve step 3

Answer ( Please select your correct option ) WWW.VirtualAcademyLive.com |

[
Yk Pl — Pln)

Yk B(k)— PlE+T)

Yk P = Pa+])

|V B~ P ‘YD‘I"G b,g w;lan ‘Si‘l‘“]ﬂ

Question No : 16 of 52 Marks: 1 (Budgeted Time 1 Min)

The mdiect proof of a statement p — g mvolves

Answer ( Please select your correct option ) WWW.VirtualAcademyLive.com |

Considerng - ¢ and then try to reach p

Consdermg p and - g are true and try to reach contradichon

Conmdenng p and then try to reach g

Considermg © » and then try to reach g

; YNade by: YWaqar Siddhe

Question No : 1T of 52 Marks: 1 (Budgeted Time 1 Min)

An mteger n 13 called a perfect square for some integer b of

Armver o sty croct o) WWW.VirtualAcademyLive.com
e
o[ YNade by: YWaqar Siddh




Question No : 17 of 52

Marks: 1 (Budgeted Time 1 Min)

Anmteger nis called a perfect square for 2ome mteger ke off

Answer | Please select your correct option )

r
n=k
A

WWW.VirtualAcademylLive.com!

PR =

~

YNade by: YWaqar Siddhe

Question No : 17 of 52

Marks: 1 {Budgeted Time 1 Min)

Anmteger nis called a perfect square for some mteger ke off

Answer | Please select your correct option )

n=k
s

WWW.VirtualAcademylLive.com!

-

YNade by: YWaqar Siddhe

Question No ; 18 of 52

Marks: 1 (Budgeted Time 1 Min)

An mteger n 15 odd for zome wteger ke

Answer | Please select your correct option )

I
=2k
s

WWW.VirtualAcademylive.com!

n=20k+1)

=201

no= 2k +1

correct YNade by: Yy aqar Siddhe




Question No : 19 of 52 Marks: 1 {Budgeted Time 1 Min)

What 15 the contra posiive of the gven statement:
I square root of every prime number 15 wrahonal then square root of 2 15 srattonal

Answer ( Please select your correct option ) WWW.VirtualAcademyLive.com |

I sepuare root of 2 18 not srabonal then square root of every prime mumber 5 not wrational

correct

If square root of 2 is srational then seuare root of every prine mumnber 12 not srational

If seuare root of 2 is not drational then square root of every prime rumber 1= srational

IF seuare root of every prime tumber 12 not srational then square root of 2 1= not wrational

; YNade by: YWaqar Siddhe

Question No : 20 of 52 Marks: 1 (Budgeted Time 1 Min)

The method of loop nwanants 13 used 20 prove -c-emmmeeee with respect to certain pre and post-conditions.

Answer ( Please select your correct option ) WWW.VirtualAcademyLive.com |

[ correctness of a loop
: correct

correctness result

correctness of vanables

correctness of algonthm

; YNade by: YWaqar Siddhe

Question No : 21 of 52 Marks: 1 (Budgeted Time 1 Min)

How many different ways can three of the letters of the werd BYTES be choszen o the first letter st be B 7

Avower Ploase selac you coroct opion WWW.VirtualAcademyLive.com

| Pra.2y

P2 4)

Cid.2

Mone of these

; YNade by: YW aqar Siddh




Question No : 22 of 52 Marks: 1 (Budgeted Time 1 Min)

The value of 0l 15

Answer ( Please select your correct option ) WWW.VirtualAcademyLive.com |

0

e correct

undefined
YNade by: Yyaqar Siddhe
Question No : 23 of 52 Marks: 1 {Budgeted Time 1 Min)

An arrangement of objects without the consideration of order i called

Ao  lease setectyour corectopton) WWW.VirtualAcademyLlive.com
FPermutation
Combmation
8 comrect
Selection
Mone of these s
; YNade by: Yyaqar Siddhe

Guestion No : 24 of 52 Marks: 1 (Budgeted Time 1 Min)

The value of *C, =

Arwer (Plsse seect yourcotot opon) WWW.VirtualAcademyLive.com
: correct
of YNade by: Yy/aqar Siddh




Question No : 25 of 52 Marks: 1 (Budgeted Time 1 Min)

If the order dees not matter and repetiion iz allowed then total number of ways for selectng b sample fom o number of elements iz

Arawr (Pleae sloctyou coct opton) WWW.VirtualAcademyLlive.com
O+ k-1k)

Fin k)
.

Clia &y ]
; YNade by: Yyaqar Siddhe
Question No : 26 of 52 Marks: 1 {Budgeted Time 1 Min)

If (4w B)y= A then

Amrrert Please select your correct option ) WWW.VirtualAcademyLive.com |
(ANE)= B
(AnBi=4
(AnE) =8
’ correct ONade by: Yy/aqar Siddhe

Question No ; 27 of 52 Marks: 1 (Budgeted Time 1 Min)

Ameng 200 people, 150 ether play teraus or snooker or both IF 85 play termus and 60 play tens and snocker, how many play snocker?

Avower Ploase selac you coroct opion WWW.VirtualAcademyLive.com
I correct
o Nade by: YYaqar Siddhe




Question No : 78 of 52 Marks: 1 {Budgeted Time 1 Min)

If A 15 a Brate set then n(A7) =

Ao  lease setectyour corectopton) WWW.VirtualAcademyLlive.com
(L) —n(4d)
: correct
" L) +nld)
(A — ()
0 [ ]
e ONade by: YWaqar Siddhe
Question No : 29 of 52 Marks: 1 {Budgeted Time 1 Min)

What is the smallest integer N such that [1/5] =7 7

Answer ( Please select your correct option ) WWW.VirtualAcademyLive.com |

35
i correct

31

30

; YNade by: YWaqar Siddhe

Question No : 30 of 52 Marks: 1 (Budgeted Time 1 Min)

Compute |-1.01)

Avower Ploass selac you coroct opion WWW.VirtualAcademyLive.com

P

r

; YNade by: YW aqar Siddh




CQuestion No : 31 of 52 Marks: 1 (Budgeted Time 1 Min)

A procedure that welds a given set of posaible outcomes 15 called

Ao  lease setectyour corectopton) WWW.VirtualAcademyLlive.com
Ewent
Chstcome
Empenment
e YNade by: Yy/aqar Siddh
CQuestion No : 32 of 52 Marks: 1 (Budgeted Time 1 Min)

If a praur of dice 1= thrown then the probability of getting atotal of 5 or 11 e

Answer ( Please select your correct option ) WWW.VirtualAcademyLive.com |

|18

W e

i’ U, YNade by: Yyaqar Siddhy

Question No ; 33 of 52 Marks: 1 (Budgeted Time 1 Min)

The probability of gethng a 5 when a die 13 thrown will be

Answer  Please select yourconect opion) WWW.VirtualAcademyLive.com

1

L=l "

cormect

3
&

|z YNade by: YWaqar Siddh




Question No : 34 of 52 Marks: 1 (Budgeted Time 1 Min)

If & die 1z rolled then what 1= the probabidity that the number 13 greater than 47

Answer (Please select your correct opion ) WWW.VirtualAcademyLlive.com
I I
3
c |3
1
o3 YNade by: YWaqar Siddh
Question No : 35 of 52 Marks: 1 {Budgeted Time 1 Min)

A rule that assggns a numencal value to each outcome m a sample space 15 called

Anwer {Paase selctyou corroctoption) WWW.VirtualAcademyLive.com
Cne to one funchon
Condiftonal probabddy
Earndomn wanable
comect  (Y¥)ade by: VYy/aqar Siddhe
Question No ; 36 of 52 Marks: 1 (Budgeted Time 1 Min)

Heow many verhices will the graph have 't contam 16 edges and all vertices of degree 27

Arwer (Plose seect yourcotot opon) WWW.VirtualAcademyLive.com
" 16
o Nade by: YYaqar Siddhe




Question No : 37 of 52 Marks: 1 (Budgeted Time 1 Min)

If a graph has any vertex of degree 3 then

Answer ( Please select your correct option ) WWW.VirtualAcademyLive.com |

It ranet have Buler corout

It rst have Hamitoman corcut

It does not have Buler cirowt

’ YNade by: YWaqar Siddhe

Question No : 38 of 52 Marks: 1 (Budgeted Time 1 Min)

In the given graph, vertex “C" has degree
A

Py

Answer ( Please select your correct option ) WWW.VirtualAcademyLive.com |

7

~

ad

4
; YNade by: Yyaqar Siddhe
Question No : 40 of 52 Marks: 1 (Budgeted Time 1 Min)

The Commen fraction for the recuming decimal 0 Bl is

Answer  lease select yourconect opion) WWW.VirtualAcademyLive.com
[ a1
1 100

c |0 YNade by: YWaqar Siddh




CQuestion No : 41 of 52 Marks: Z (Budgeted Time 4 Min)

Let A={1,23 beaszet, F and S be the following relations on
R={(1,2),(L3.(2,%),(3.1.(3.3)

£={(1.2).(1.3.(21.G.3)
Find RS

Answer ( Please click here to Add Answer | WWW.VirtualAcademyLive.com |

NaEan| v e e o ¢ & Ca g |G oo =]
[hoe = | BT =1l s pl|[eE=E]EEiEsE
Nade by: Yaqar Siddhe
CQuestion No : 42 of 52 Marks: Z (Budgeted Time 4 Min)

A cafetena offers a choice of two soups, five sandwaches, three desserts and three drinks. How many different lunches, each consisting of a soup, a sandwiche, a dessert and a drnk are possible?

Answer ( Please click here to Add Answer | WWW.VirtualAcademyLive.com |

NaEan| v e e o ¢ & Ca g |G oo =]
[hoe = | BT =1l s pl|[eE=E]EEiEsE
Nade by: Yaqar Siddhe
Question No : 43 of 52 Marks: Z (Budgeted Time 4 Min)

Find the expectation x of the distnbution grven in the following table

-1 1 3 K 5

) 01 0.2 03 4

Answer ( Please slick hers to Add Answor WWW.VirtualAcademylive.com!

CERan|sonla s a|E d o | oo =]
[ror B =l | m .’|||._ == ::|: = imi=

YDNade by: Yy/aqar Siddhe




CQuestion No : 44 of 52

1
Let A -[r

Marks: Z (Budgeted Time 4 Min)

] then find A

=
!
9

B W

Answer {Ploase click ars t Add Anewor) WWW.VirtualAcademyLive.com!
T@RalRr e wE]a = AE G q]E o)
o = | BE =] |l m oD ||. S = | o eI

| Nade by: YWaqar Siddh

Question No : 45 of 52

Marks: 3 (Budgeted Time & Min)

Deterrmume the chromane number of the given graph by mepection.

M

Arawer (Plasse ik s t Add Answer) WWW.VirtualAcademyLive.com
NEEaR| e n]a e A5 GG R o =]
Jhioe 2| B =1l =l mz .’I||._ :_:::l: :

| Nade by: YWaqar Siddh

Question No : 45 of 52

Marks: 3 (Budgeted Time & Min)

Answer ( Please slick hers to Add Answor WWW.VirtualAcademylive.com!
n e TS R Y A el = ||
[ = | B = =l B £ D || == = ||

| YDNade by: Yy/aqar Siddhe




CQuestion No : 46 of 52 Marks: 3 (Budgeted Time & Min)

let & and B are two sets then shew that 5. Awr B

Answer ( Please click here to Add Answer | WWW.VirtualAcademyLive.com |

T@RalRr e wE]a = AE G q]E o)
| 2| B =1l =B .’I||.. :_:::l: P =
Nade by: Yaqar Siddhe
CQuestion No : 47 of 52 Marks: 3 (Budgeted Time & Min)

The members of a club are 12 boys and B gals. In how many ways can a committes of 3 boys and 2 girls be formed?

Answer ( Please click here to Add Answer | WWW.VirtualAcademyLive.com |

NaEan| v e e o ¢ & Ca g |G oo =]
[ = ar =l =l B .f|||._ == || =31
Nade by: Yaqar Siddhe
Question No : 48 of 52 Marks: 3 (Budgeted Time & Min)

Dietermune the probability of appearing an odd sumber when a far die 13 thrown

Answer ( Please glick here to Add Answer ) WWW.VirtualAcademyLive.coml
n e TS R Y A el = ||
o =[5 AT EEEEE

YDNade by: Yy/aqar Siddhe




CQuestion No : 49 of 52 Marks: 5 (Budgeted Time 10 Min)

Define a bmnary relaton B from A=(1 3} to B ={1 2,3} az follows
E=(la.bie AxBla<h)

(2) Find the ordered pars m B
(&) Find the domam and range of B
() Is 1R2 and 3R37

Answer ( Please click here to Add Answer | WWW.VirtualAcademyLive.com |

NaEan| v e e o ¢ & Ca g |G oo =]
[hoe = | BT =1l s pl|[eE=E]EEiEsE
Nade by: Yaqar Siddhe
CQuestion No : 50 of 52 Marks: 5 (Budgeted Time 10 Min)

A college has 10 basketball players. A S-member tearn and a captam will be selected out of these 10 plavers. How many different selections can be made?

Answer ( Please click here to Add Answer | WWW.VirtualAcademyLive.com |

NaEan| v e e o ¢ & Ca g |G oo =]
[hoe = | BT =1l s pl|[eE=E]EEiEsE
Nade by: Yaqar Siddhe
Question No : 51 of 52 Marks: 5 (Budgeted Time 10 Min)

Find the probabdity distmbution of the sum of the dots when twe Baer dice are thrown,

Answer ( Please slick hers to Add Answor WWW.VirtualAcademylive.com!

CERan|sonla s a|E d o | oo =]
[ror B =l | m .’|||._ == ::|: = imi=

YDNade by: Yy/aqar Siddhe




Question No : 52 of 52

Marks: 5 (Budgeted Time 10 Min)

Find the product AR and BA of the matnces (f not possble then give reazon)

1 3 . Zz (1] .|
i PR B=l3 2 ¢

and

Answer | Please click herg to Add Answer )

WWW.VirtualAcademylLive.com!

TR an|ranlac A& LW gE

foms [ . sz o====]

[o0% v]|

Nade by: YWaqar Siddh




